EARAROBREBRT —5 XN—ZXBISH—F

202328148 CX) 3EEE1H

W C3=- USHR4mtE BN R
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= N ~, REEN :35. -4-1- . - BAE— (Fk)
100 4| BSANILFDT R 5P e : f_af) 1) F—ILPRZ MES
RIIET7RAT B:hTISv NUN— ML &RE
< < Kii—& : -5-5- - EHES (EH)
2lglo| Ny F—T% 47 o 1(.33/54.)7 5-5-5-5 | 41.2 4 :1_427) e
RiFavIRTLYY B:Fa—byLT ke
7 | ERERE=E 1:35.9 4-3-2-1 |41.7| - 1 567 | 7t (EHE)
30111 | F9LT LT 7R T | A
RIFVIZANRZ S BU—RZARSTL SWIr—L
S © Y 4 | EMlE— 1:36.1 7-7-7-6 | 41.2| - 8 448 | OIS (Fhk)
48|10 ¥+ /NU 56.0 (3/4) o |EDES
RNy vH—)b B:I—HYR/NU ER ki
— Ho§ | AAKH 1:36.1 9-8-8-8 | 41.0| - 7 | 4 |=EEZ (@B
5(7/8|F=TW 5.0 ") L) | W Tr—2KEvay
RIN—RZIY B:AYRU—XOF 4 — S—L— - VvV - Tr—LERE
N = 7 | mAbES 1:36.4  |10-10-10-10| 40.8 | — 9 | 431 |/AWEt (EH)
6 2 NKILLUT 4R i 54.0L (1172 5) #) TKK
RINNVTSY AV I 9r—ZT palzke
< — ZmER : -9-9- - KIRER (Faks
717| 7 | =1 RLY v #15 | 2R (11316/27) 8-9-9-9 | 41.5 10 (4—658) mt&%fé Gzl
RO—IRAVUAA BIURTaF vy b e —B
= AT : -1-4- = BHEZ @)
8 3 EXSTEYY i 4 w (17.3;.77) 1-1-4-4 | 42.6 5 21;141) i
R:F4RAIU—rFvy b B:T—VE1—F1— JO0-U—J7—LA
H o6 | RO 1:37.1 6667 |42.4| - 6 | 462 |FEERFI— (FH)
9 6| FI/ ALt 56.0 21/ @) | RBEXTF
R:VeVIWRT Y b B hOALRT U5 ENRES
o D (159 Dy (1@ SNEE : -2-3- - FEHBE (EH)
105|550V XT K 4 5 5l 1.(317).3 2-2-3-3 | 43.2 3 ié; ﬁ?i’ﬁa
RUTIWAVNT ~ B:STY—EI 45
@ 11— —BERIEI
13—7F— 3,5,4,1,9,6,10,7,8,2
20—7+— 3,5,1,4,9,6,10,8,7,2
30—7F— 4,1,5,3,9,6,10,8,7,2
41—7F— (1,4),5,3,9,10,6,8,7,2
o ILRE
BB 4 4308 | [ 94K 4-9 480MH & 4-8 1,010 3ER 1-4-9 2,030
B B 4 1504 1-4 3704 5 & 4-9 1,470 3Es 4-9-1 12,050
9 170/ 1-9 590 oS- 1 4-9 2,460M
1 160/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




